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- uadnines (2 - 6x - 1) - (222 - 6x + 1) Hiwiniudeln

b

1. —-x2—-2 2. —x242

3 x*—2 4. 242

| WAANEYRS (422 — 5x — 1) + (2x + 5) — (4x — 10) HArNuieln

]

1.4x* -7x—6 2. 4xt+x—-4

3. 4x2—T7x + 14 4 4x*—7x+16

ad

HARNELRY (3x% +2x-6)+ (32 —4x® —x)— (2% + Tx— 3)ilAwniila
1.3x3 —2x* +9x -9 2 3x3-2x2-6x-3

3. 3x3+9x—-12 a 3x3-12

4. naindewes (4x3 — x% + x) — (4 + 322 — 2 + x) — (2% + x) aniiviiela
1.5x° —6x* +x—4 .58 -6 —x—4

333 -6x2+x—4 4.3x° —6x°+3x—4

5. tn (1 - st + 2st + 4st?) — (12st% + st L — L | L "

e 4
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1. -3 — 357t + 6st? 2.-3- 3:%-5%2 e

3. —3 — 35t% + 65%t 4. —3-3&1“
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10. (2a - 1)(a* - 3a+5) fAniinudiels
1.2a*-7a*+13a -5

3 2a°-7a*+13a+5

2. 2a®*-7a%-13a+5

4 2a®-7a%>-13a-5 I
11, HAAWHYDY (x — '_-:{xz = 3xy + y?) dlmuvinnudela |

1.2 = 6x%y — 10xy? + 3y° 2 x* - 6x2y + 10xy? - 3y3

3. x*—6xiy— 10xy? - 3y 4 x' - 6xty + 10xy? + 3y*

122 ot xf vyt (x? - y?) Fmseiudiala

L x°+y° 2.x%= 38

Y x6+2x4y2 +lx’y"+ yb 4 ‘o*hd,z y

13. HALANVBINNIN 27 + dxy+ y? WU x? -y ey? UmE 2x? -

1. 2xy - 2y? - &x? 2. 2xy+ 2y? - ax?
3. ax? + 2xy - 2y? 4. -4’ - 2
4. HAAMIBINWUIN (2x - J)(3x° — x+4) liﬁ'ﬁﬂﬂ
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